2024FE HREASIEERERBRBRER (R

ERFE _ .
e BE ERR 2E itmE | BRE | EFE | SRE | MERE | LWER | &BEE | TRE | HAR | #BE | BER | TER | ZRH |[#FNIE
(1)BHRERTEEL 448 11 2 3 7 2 10 5 18 10 2 9 15 8 18
(2)FRHBREHEE 108 4 1 0 1 0 3 2 0 2 1 2 4 3 5
FR - EREEER
(3)EHERBRAIREY 133 4 1 0 1 0 6 2 1 2 1 3 6 5 5
(4)REIRTE SR E 89 3 0 0 1 0 3 2 0 2 1 2 4 3 5
(5)BHRERTEEL 58 0 0 0 0 0 0 5 3 3 0 4 2 3 5
FRIERBRDAHZAR
(6)FRIRBRAIREL 8 0 0 0 0 0 0 2 0 0 0 0 1 0 0
(7)BARERTEEL 17 1 0 0 0 0 0 1 0 0 0 2 0 0 1
ERGREBRDAHZAR
(8)E=HERBRAIREL 10 1 0 0 0 0 0 1 0 0 0 1 0 0 1
0)ZHREFHEL 124 0 0 0 0 0 1 2 2 3 3 6 2 0 4
EaTTOT S Lot itk
(ZRIEBRDHZIR) .
(10)EARTE AR E L 30 0 0 0 0 0 1 0 0 0 0 0 1 0 1
11)BHRERTEEL 44 0 0 0 0 0 1 0 1 0 2 0 1 0 2
S i
(ERERDHFIR)
(12)BEARTE AR E L 24 0 0 0 0 0 1 0 1 0 2 0 0 0 2
%R (13)ZARFFFEH(LERTEESEEE) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
= St
sy | CHEREEER 691 12 2 3 7 2 12 13 24 16 7 21 20 11 30
(1)+(5)+(7)+(9)+(11)+(13)
AT = e
(15)FHZRHEHL 630 11 2 3 7 2 11 12 23 16 5 19 19 11 27
(1)+(5)+(9)
prePpvRE
gy |LOFHEHEER 146 4 1 0 1 0 4 4 0 2 1 2 6 3 6
(2)+(6)+(10)
(17)$*ﬂé*§$ 0 0 0, 0, 0 0, 0 0, 0, 0 0, 0 0, 0, 0
(16)/(15) 23.2%| 36.4%| 50.0%| 0.0%| 14.3%| 0.0%| 36.4%| 33.3%| 0.0%| 12.5%| 20.0%| 10.5%| 31.6%| 27.3%| 22.2%
=, =2
(18)RERRFREL 509 12 2 3 7 2 11 6 19 10 4 11 16 8 21
(1)+(7)+(11)
s |(ORBERER 167 5 1 0 1 0 7 3 2 2 3 4 6 5 8
(3)+(8)+(12)
(Zo)i}ﬁé*ﬁz 0, {+) 0, 0, () 0, 0, 0, 0, 0, 0, 0y 0, 0, 0,
(19y/(18) 32.8%| 41.7%| 50.0%| 0.0%| 14.3%| 0.0%| 63.6%| 50.0%| 10.5%| 20.0%| 75.0%| 36.4%| 37.5%| 62.5%| 38.1%
1 =N 4
st |(GEERESEER 143 3 0 0 1 0 5 2 1 2 3 2 5 3 8
(4)+(10)+(12)+(13)
RERESTEE
BIRE (%) (22)33;:;;?1&4 ) & 20.7%| 25.0%| 0.0%| 0.0%| 14.3%| 0.0%| 41.7%| 15.4%| 4.2%| 12.5%| 42.9%| 9.5%| 25.0%| 27.3%| 26.7%
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2024FE HREASIEERERBRBRER (R

ERFE _ .
2431 - WER 2 | 88 | DL | AIE | B | LIRS | EHE | BER | #EE | BN8 | S8 | HEE | TN | ARF | SER | ZRE MR8
(1)BHRERTEEL 448 6 8 9 2 2 13 14 17 90 22 14 4 16 19 3 0
(2) 2 RIRBRAIEEE 108 3 2 4 0 0 4 6 2 23 5 3 2 2 2 0 0
FR - EREEER
() EEGEHBRAIBEL 133 2 4 5 1 0 5 6 4 27 5 5 2 2 4 0 0
(4)REIRTE SR E 89 2 2 4 0 0 4 4 2 17 3 3 2 2 2 0 0
(5)BHRERTEEL 58 0 0 1 0 0 0 1 3 3 2 3 0 2 2 1 0
FRIERBRDAHZAR
(6)FRIHBRAIEELK 8 0 0 0 0 0 0 1 1 0 0 0 0 0 1 0 0
(7)BARERTEEL 17 0 1 1 0 0 0 0 2 3 1 0 1 0 0 0 0
ERGREBRDAHZAR
(8)BRHIRAIEER 10 0 1 1 0 0 0 0 0 1 1 0 1 0 0 0 0
0)ZHREFHEL 124 2 1 1 3 0 1 6 10 30 8 5 1 0 4 1 0
EaTTOT S Lot itk
(FRRBROHSR) o
(10)IXHEARTESIBEE 30 0 0 0 0 0 0 2 4 7 4 2 0 0 1 1 0
11)BHRERTEEL 44 0 0 0 0 0 1 2 3 10 3 2 1 5 5 0 0
S i
(ERABROHSR) o
(12)BEARTE AR E L 24 0 0 0 0 0 1 1 2 4 1 2 0 1 3 0 0
mARR (13)BREPBESL(FERESIREL) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
= St
sy | CHEREEER 691 8 10 12 5 2 15 23 35| 136 36 24 7 23 30 5 0
(1)+(5)+(7)+(9)+(11)+(13)
15)2 R SEEH
(15)FHZRHEHL 630 8 9 11 5 2 14 21 30 123 32 22 5 18 25 5 0
(1)+(5)+(9)
prePpvRE
gy |LOFHEHEER 146 3 2 4 0 0 4 9 7 30 9 5 2 2 4 1 0
(2)+(6)+(10)
(17)$*ﬂ§*§$ 0 0 0 0 0 0, 0 0, 0 0 0 0, 0, 0 0, [o)
(16)/(15) 23.2%| 37.5%| 22.2%| 36.4%| 0.0%| 0.0%| 28.6%| 42.9%| 23.3%| 24.4%| 28.1%| 22.7%| 40.0%| 11.1%| 16.0%| 20.0% -
= =k
(1) REFHRFRE 509 6 9 10 2 2 14 16 22 103 26 16 6 21 24 3 0
(1)+(7)+(11)
1 =
=57 (L)REENEHE 167 2 5 6 1 0 6 7 6 32 7 7 3 3 7 0 0
(3)+(8)+(12)
(Zo)i}ﬁé%:—'—_ﬁ 0, 0y 0, 0, 0, 0, 0, 0, 0, 0y 0, 0, 0, 0, 0, 0,
(19)/(18) 32.8%| 33.3%| 55.6%| 60.0%| 50.0%| 0.0%| 42.9%| 43.8%| 27.3%| 31.1%| 26.9%| 43.8%| 50.0%| 14.3%| 29.2%| 0.0% -
21) IR T RS
st |(GEERESEER 143 2 2 4 0 0 5 7 8 28 8 7 2 3 6 1 0
(4)+(10)+(12)+(13)
22) B SRR
otz (%) | )(}fiﬁi) & 20.7%| 25.0%| 20.0%| 33.3%| 0.0%| 0.0%| 33.3%| 30.4%| 22.9%| 20.6%| 22.2%| 29.2%| 28.6%| 13.0%| 20.0%| 20.0% -
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2024FE HREASIEERERBRBRER (R

ERE _ _ . - .
e BE ERR 2E ERE | BRE | MUE | ZBE | WOR | #BR | JIE | BEe | S8 | EHE | #HE | REBE | AR | ADE | ZRE BRREBE| e
(1)BHRERTEEL 448 7 3 8 24 5 3 3 0 0 14 5 0 6 5 1 4 1
(2)FRHBREHEE 108 3 1 2 5 0 1 0 0 0 3 2 0 2 1 1 1 0
FR - EREEER
(3)EHERBRAIREY 133 4 1 3 7 0 1 0 0 0 4 0 0 2 1 1 0 0
(AR EAIREL 89 2 1 2 3 0 1 0 0 0 3 0 0 2 1 1 0 0
(5)BHRERTEEL 58 0 0 0 3 1 0 2 0 0 4 0 0 5 0 0 0 0
FRIERBRDAHZAR
(6)FRIRBRAIREL 8 0 0 0 0 0 0 2 0 0 0 0 0 0 0 0 0 0
(7)BARERTEEL 17 0 0 0 3 0 0 0 0 0 0 0 0 0 0 0 0 0
ERGREBRDAHZAR
(8)E=HERBRAIREL 10 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0
0)ZHREFHEL 124 1 2 3 8 6 1 1 2 0 2 0 0 2 0 0 0 0
EaTTOT S Lot itk
(ZRIEBRDHZIR) »
(10)EARTE AR E L 30 1 0 1 0 1 1 1 0 0 0 0 0 1 0 0 0 0
11)SHREBEL 44 0 0 1 0 0 0 0 0 0 3 0 0 1 0 0 0 0
S i
(ERABROHSR) o
(12)BEARTE AR E L 24 0 0 1 0 0 0 0 0 0 2 0 0 0 0 0 0 0
e (13)BIRERAE L (RERTEAIREL) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
= St
sy | CHEREEER 691 8 5 12 38 12 4 6 2 0 23 5 0 14 5 1 4 1
(1)+(5)+(7)+(9)+(11)+(13)
AT S e
(15)FHZRHEHL 630 8 5 11 35 12 4 6 2 0 20 5 0 13 5 1 4 1
(1)+(5)+(9)
preFvpTe
gy |LOFHEHEER 146 4 1 3 5 1 2 3 0 0 3 2 0 3 1 1 1 0
(2)+(6)+(10)
(17)#*1\4‘%%% 0 0, 0, 0 0 0 0, 0, 0, 0, 0, 0 0, 0, [ 0,
(6)/(15) 23.2%| 50.0%| 20.0%| 27.3%| 14.3%| 8.3%| 50.0%| 50.0%| 0.0% —| 15.0%| 40.0% —| 23.1%| 20.0%|100.0%| 25.0%| 0.0%
=, =2
(1) REFHRFRE 509 7 3 9 27 5 3 3 0 0 17 5 0 7 5 1 4 1
(1)+(7)+(11)
1 =
=57 (L)REENEHE 167 4 1 4 8 0 1 0 0 0 6 0 0 2 1 1 0 0
(3)+(8)+(12)
(zo)i}ﬁé*ﬁz 0, 0y () 0y 0, 0, () 0, 0, 0, 0, 0, 0, 0, 0,
(19y/(18) 32.8%| 57.1%| 33.3%| 44.4%| 29.6%| 0.0%| 33.3%| 0.0% - —| 35.3%| 0.0% —| 28.6%| 20.0%|100.0%| 0.0%| 0.0%
1 =N 4
st |(GEERESEER 143 3 1 4 3 1 2 1 0 0 5 0 0 3 1 1 0 0
(4)+(10)+(12)+(13)
RERESTEE
BHEE (%) (Zz)gﬁ;ﬁi ) & 20.7%| 37.5%| 20.0%| 33.3%| 7.9%| 8.3%| 50.0%| 16.7%| 0.0% —| 21.7%| o0.0% —| 21.4%| 20.0%|100.0%| 0.0%| 0.0%




